NUT & BOLT KIT S1

WASHER M5 FORM A SS (100)
GENERAL USE

WASHER M5 DIN 9021 SS (16)
GENERAL USE

WASHER M6 SS
GENERAL USE

WASHER M8 SS
GENERAL USE

PENNY WASHER SS
GENERAL USE

Form 'B' (35) Form 'A’ (30) M5 (15)
Form 'C' (35) Form 'B' (20) M8 (40)
WASHER M6X18 DIN9021 SS (20)
SPRING WASHER SS WASHER SHAKEPROOF NUT M5 SS NUT M6 SS NUT M8 SS

GENERAL USE

M5 (19)
M6 (32)
M8x12 (13)
M8x14 (2)

GENERAL USE

M5 (21)
M6 (13)
M8 (9)

GENERAL USE

FULL (12)
NYLOC (15)

GENERAL USE

FULL (15)
NYLOC (6)

GENERAL USE

FULL (5)
NYLOC (7)

BUTTON SET M6X20 SS
Wheel Arch Liner / Sill & Chassis
/ Shearplates (14)

Relay Boxes to Wheel Arch Cover (4)

BUTTON SET M4X16 SS
Door Pull Exterior (4)

CSK FLAT HEAD SET M4X16 SS
Escutcheon Fix (4)

BUTTON SET M6X16 SS
Door Latch Mechanism (12)

BUTTON SET M6X25 SS
Front Undershield (9)

BUTTON SET M5X20 SS
Side Window Frame (8)
Front of front W/arch to Clamshell (4)
Rear of rear W/Arch to Clamshell (4)

Striker / 'B' Post (2)

BUTTON HEAD M5X12 SS
Door Cover Plate (2)
Boot Bulkhead (6)

BUTTON SET M5X16 SS
Rear Grille Fix (4)
Front Clamshell to Undertray (3)

HEX SET M5X16 SS
Rear Undertray (16)

CSK 6X1/2 POZI AB SS
Wiper Arm (1)

PAN POZI SET M6X3/4 SS
Filler Neck (4)
Microswitches, Numberplate Lamp (8)

CSK POZI AB SET M6X1 INCH SS
Cantrail (2)

HEX SET M8X20 SS
Exhaust Bracket to Tailpipe (1)

HEX SET M8X35 SS
Front Clamshell (2)

BUTTON SET M5X50 SS
Fusebox (2)

BUTTON SET M8X25 SS
Clamshell Fixing
Engine Cover
Front Bonnet Slider
Rear Undertray

BUTTON SET M8X25 SS

QTY 26 TOTAL




